|
G
J CAP SCREW
(INCLUDED)

RADIUS B

K THREAD

RADIUS C

a8

oguy [§k:°]' A B ¢C D G H J K L N R T
44-1031-00 22  |63.5/25.5/14.5 16 |12.5/31.75-31.80| M16x 1.5 M12x 1.75| 25 | 0.5 |22.5 44.5
44-1032-00/ 33 | 68 | 35 |14.2/16.4/14.2/38.11-38.16) M16x 1.5 | Mi6x2 | 25 | N/A | 256|445
44-1031-002 29 T2MY A2 YT Qg
41-4622-XX, 41-4222-XX2t BHH AL
B gl= 22 91-5218-11.
44-1032-002 29 T2MY AZ YT Qg
41-4633-XX, 41-4233-XXSt B ALE.

EH=
==

H= Ot
[SZNy— —

91-5221-06.

2|1 44-1031-001t 91-5218-112] WA & A3
44-1032-002 91-5221-062 WA & A3

T

No. 21-5000-24
No. 21-5000-28

L

, =N
L ; D _
6 HJ_\_R‘HP;M

J CAP SCREW.
(INCLUDED)

e > —af

B X== mm YSULCL
RADIUS K

ILMVATTI01 REV K

HIOIXI 0-321 & Z0I X
g =M.

<]

[

44—1131—00‘ 22 ‘

165 12.5 22.5 16x 1.5 ‘ 25.5 ‘ 25 ‘ 711

44—1132—00‘ 33 180.3|68.3 | 30.2 33.8‘ 38.11-38.16 ‘ 44.5 14.2 25.6 16 x 1.5 ‘ 35 ‘ 25 ‘ 44.9
44-1131-002 22 Z20tY A2 S8 29
41-4622-XX, 41-4222-XX2t SN ALE
44-1132-002 22 Z20tY A2 S8 29
41-4633-XX, 41-4233-XX2 &M ALS
o1 44-1131-002 WM & A3% 2 No. 21-5000-24

44-1132-002 WA & 237 2 No. 21-5000-28

© Vektek, Inc. 20164 3&

Koreasales@vektek.com

www.vektek.com

t



| >

0
Tl
115
1=
11

HU
=]
e
| >
00
il
0z
|H
[
>+

TuffCam™ E X

-

N
]

———————a

1O

J CAP SCREW L;DHJ

(INCLUDED)

2x RADIUS C

RADIUS C

ILMV4T4101 REV J

o Xl
o 88 A B C F G H J M N P R T
(kN)
44-1431-00| 22 | 76 | 51 | 145 | 36.5|13.5 31.75-31.80| M16x 1.5 | 445 | 38 | 38 | 225 | 70
44-1432-00| 33 | 81 169.9| 14.3 | 39.6 | 13.5 |38.11-38.16| M16x 1.5 | 44.5 | 45 | 41.3| 25.6 | 76.2
44-1431-002 22 T2MU AY 2UT QY 41-4622-XX, 41-4222-XX St BT ALE.
44-1432-002 22 T2 A2 AT Y 41-4633-XX, 41-4233-XX2 BH ALE.

=9l 44-1431-001+ 44-1432-002 wH & A3F 2 No. 21-5000-25

G J
J CAP SCREW

CINCLUDED) 2x RADIUS M

a T

ILMV412102 REV J

-

44-1231-00 | 22 140 | 28.5 | 19 | 12,5 | 31.75-31.80 M16

‘ 14.2 | 38.11-38.16 M16

70.5
8 44.6
41-4622-XX, 41-4222-XX<t SH AtE.
41-4633-XX, 41-4233-XX2t &M ALS

44-1232-00 | 33 180.3 | 30.2 | 33.

44-1231-002 2R Z2MY A3 =8
44-1232-002 2R T2 A3 =8

odl
—=
24

[FI It\

o1 44-1231-002 WM & A35%F 2 No. 21-5000-24
44-1232-002 Wi & 2357 22 No. 21-5000-28

\

1

www.vektek.com Koreasales@vektek.com © Vektek, Inc. 20164 3&



TuffCam™ ZH| XI==0ll HE IDIA =

0.5k, 13 —=f=

OPTIONAL -_:::-@_

o &8
“HEY = o s

Ag S of

ODEMY AY SAD
—] fe—— X MINIMUM "¢H"
B BLIND HOLE DEPTH

RAD. B/2
OPTIONAL — @Ht. 025

A ! B
__‘— .H. —_ —_

F — !

K i

P e —

v

[ N
i ~—@C+0.1 THRU
————————— BL x W DEEP
7 THREAD
S L RAD. §/2
|__|0.25|H—/
£7]0.25 [LMV415001 REV H

AFg A= A A o Z gl Aol ALRS §5te] &

2 Y X oF e A S IEF o7 F718H

ofF gt},

H o2 C-12 o & 7] 54, AR Y go] 7]

A= QlF ),

= (o] | A
=Y o2 o X
| | X

GGH‘J‘KLMNRSTUHWSIADIA

44-1031-00 \ V16 \

44-1131-00| 22 |25.4| 51 | 14.5/12.7|31.78| X 53| 165 |2.9/20.5 225 13 (445 35 |6.2|25.743.232.8
1.5-6H

44-1231-00 \ \

44-1032-00 \ V16 \

44-1132-00| 33 | 35| 70 | 14.5|14.2|38.14| X | 59| 165 |3.2| N/A |25.6(14.3/44.5 35 | 9.6 |25.5|50.8/31.0
1.5-6H

44-1232-00 \ \

2E X=E mm A&SULL

FOI: HOIXI 0-391 & 20l Xigt

g m=MLe.

RLOIMYU I, OF, (2 ACE 4 A2IXS 8 S2 6IE 2 ATF ALE:

44-1031-00, 44-1131-00, 44-1231-002 21-5000-24 At

44-1032-00, 44-1132-00, 44-1232-002 21-5000-28 At

\

© Vektek, Inc. 20164 4&

Koreasales@vektek.com

www.vektek.com






